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  of	
  phased	
  singled	
  nucleo'de	
  variants	
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Variant site clusters, A_NA_N2−JACCARD.sqm

NA	
  N2,	
  replicate	
  2	
  
Mix	
  of	
  90%	
  to	
  10%	
  
	
  
Known	
  parent	
  donor	
  virus	
  consensus	
  
differences:	
  
C  51T 
A  88G 
T 230C 
T 303C 
G 321A 
C 399T 
G 622A 
G 651A 
A 800C 
T 897C 
A1080G 
G1089A 
G1138A 
A1176G 
C1212T 
G1272A 
C1396T 

Out	
  of	
  	
  
phase	
  SNVs	
  



88
G

51
T

96
2C

29
8G

39
9T

23
0C

32
1A

30
3C

65
1A

62
7A

80
0C

10
89
A

10
80
G

13
96
T

89
7C

12
72
A

11
76
G

12
12
T

11
38
A

1138A
1212T
1176G
1272A
897C
1396T
1080G
1089A
800C
627A
651A
303C
321A
230C
399T
298G
962C
51T
88G

Variant site clusters, A_NA_N2−JACCARD.sqm

NA	
  N2,	
  replicate	
  2	
  
Mix	
  of	
  90%	
  to	
  10%	
  
	
  
No#ce:	
  51T	
  is	
  too	
  far	
  away	
  from	
  1396T to	
  
be	
  linked	
  due	
  to	
  short	
  read	
  lengths.	
  
 
If	
  51T	
  and	
  651A	
  are	
  linked,	
  	
  
and	
  651A	
  and	
  1396T	
  are	
  linked,	
  	
  
we	
  might	
  infer,	
  transi'vely,	
  that	
  
51T	
  and	
  1396T	
  are	
  linked.	
  
	
  

Out	
  of	
  	
  
phase	
  SNVs	
  



88
G

51
T

96
2C

29
8G

39
9T

23
0C

32
1A

30
3C

65
1A

62
7A

80
0C

10
89
A

10
80
G

13
96
T

89
7C

12
72
A

11
76
G

12
12
T

11
38
A

1138A
1212T
1176G
1272A
897C
1396T
1080G
1089A
800C
627A
651A
303C
321A
230C
399T
298G
962C
51T
88G

Variant site clusters, A_NA_N2−JACCARD.sqm

NA	
  N2,	
  replicate	
  2	
  
Mix	
  of	
  90%	
  to	
  10%	
  
	
  
Fully	
  linked	
  clusters:	
  
A = {51T, 88G, 230G, 303C, 321A, 
399G, 627A, 651A } 
 

B = {627A, 651A, 800C, 897C, 
 1080G, 1089A, 1138A, 1176G,      
 1212T, 1272A} 

 
 

 

Since	
  A	
  and	
  B	
  share	
  SNVs	
  627A	
  and	
  651A,	
  we	
  
might	
  combine	
  them:	
  
	
  
A+B = {230G, 303C, 321A, 399G,   
 627A, 651A, 800C, 897C, 1080G,  

 1089A, 1138A, 1176G, 1212T,   
 1272A } 
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